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km m
1 Distance covered by Shyamal

 in the relay race  = 3 3 0 4
Distance covered by Charu

 in the relay race  =  + 3 4 9 6

Total distance covered by Shyamal 
and Charu in the relay race   = 6 8 0 0

Ans - The total distance covered by Shyamal and Charu

 is 6 km 800 m.



m cm

2 Length of cloth Ankita bought 1 6 0 3 5
Length of cloth Ankita used  - 5 5 2 3

Length of cloth left unused 1 0 5 1 2

Ans - Length of cloth left unused is 105 m and 12 cm

7 Length of a narrow lane  = 8 4 6 m
Length by which it is extended  =  + 9 3 4 m

Length of the lane now  = 17 8 0 m

Ans - The length of the lane now is 1780 m or 1 km 780 m


